[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

1.9

Ratio

i)
n
v
4
v

0.95 ; :
1072 10 1

10 0?
TP vertr (cr%)

V‘I_Ulk IIIdI SLE] llUdl MaSEL-TTEWJEDTIT
it_sTe, asel new eom
qle —ste) 2‘tt a asel eom

p| eTCPETEmp?at% stseep12n?‘ggr pWasel newgeom

§§§§

—— D
—— D
__|= B§
Efficienq —— B

N 0.7
20.09
[d
=>0.08
> : : :
2 : : : : :
SRRl S Y R S A
S : : : :
O B B R (8
o : : : :

e IR AR SRR & 0
0.04f prove o fheefromenbenennec b e
YO 38 AR OROOOOPOOOO e

0.02f :
0.015— ----- ------ h’ ......... ﬂ* .......

O||||I||||I||||I||||I||||I||||

Ratio
l;._,

i

M

H

10 20 30
TP vert z (cm)

r|
o
|
o 0 ’
|
[y
o
o

o
52

[ Efficiency vs. sim PV z |
~n0.02r

So L
e s S
T
Bt by
t001l-----}-------i -------- T

0.004
0.002
O 111

%ﬁﬁﬁﬁ Loy

Ratio
=
-
i
N
J.
i

J14E [+ ]
LI H
24| |4 -+
09 SR L
-+ 5 HEES
- . T
1 -+
0.8

[
o
| =
6]
o
6]

LO 15 20
Sim. PV z (cm)



	Contents
	Page 1


